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Relação do aço
ELEMENTO AÇO N DIAM

(mm)
QUANT C.UNIT

(cm)
C.TOTAL

(cm)
CAIXA D'ÁGUA
P10 CA60 1 5.0 28 56 1568

CA60 2 5.0 8 52 416
CA50 3 16.0 4 196 784
CA50 4 16.0 4 380 1520
CA50 5 16.0 4 222 888

P11 CA60 1 5.0 44 56 2464
CA60 2 5.0 13 52 676
CA50 3 10.0 4 196 784
CA50 4 10.0 4 358 1432
CA50 5 10.0 4 202 808

P12 CA60 1 5.0 28 62 1736
CA60 2 5.0 8 58 464
CA50 3 16.0 6 196 1176
CA50 4 16.0 6 380 2280
CA50 5 16.0 6 222 1332

TÉRREO
P1 CA60 1 5.0 22 56 1232

CA60 2 5.0 10 52 520
CA50 3 12.5 4 316 1264
CA50 4 12.5 4 210 840

P2 CA60 1 5.0 22 56 1232
CA60 2 5.0 10 52 520
CA50 3 12.5 4 316 1264
CA50 4 12.5 4 210 840

P3 CA60 1 5.0 22 56 1232
CA60 2 5.0 10 52 520
CA50 3 12.5 8 316 2528
CA50 4 12.5 8 210 1680

P4 CA60 1 5.0 27 56 1512
CA60 2 5.0 13 52 676
CA50 3 10.0 4 316 1264
CA50 4 10.0 4 202 808

P5 CA60 1 5.0 17 56 952
CA60 2 5.0 8 52 416
CA50 3 16.0 4 316 1264
CA50 4 16.0 4 222 888

P6 CA60 1 5.0 27 56 1512
CA60 2 5.0 13 52 676
CA50 3 10.0 4 316 1264
CA50 4 10.0 4 202 808

P7 CA60 1 5.0 27 56 1512
CA60 2 5.0 13 52 676
CA50 3 10.0 4 316 1264
CA50 4 10.0 4 202 808

P8 CA60 1 5.0 27 56 1512
CA60 2 5.0 13 52 676
CA50 3 10.0 4 316 1264
CA50 4 10.0 4 202 808

P9 CA60 1 5.0 31 56 1736
CA50 2 12.5 4 306 1224
CA50 3 12.5 4 210 840

P13 CA60 1 5.0 17 66 1122
CA60 2 5.0 8 62 496
CA50 3 20.0 4 316 1264
CA50 4 20.0 4 235 940

P14 CA60 1 5.0 17 66 1122
CA60 2 5.0 8 62 496
CA50 3 20.0 4 316 1264
CA50 4 20.0 4 235 940

Resumo do aço
AÇO DIAM

(mm)
C.TOTAL

(m)
PESO
(kg)

CA50

CA60

10.0
12.5
16.0
20.0

5.0

113.2
104.8
101.4

44.1
276.8

69.7
101

159.9
108.7

42.7
PESO TOTAL

(kg)

CA50
CA60

439.3
42.7

Volume de concreto (C-25) = 2.52 m³
Área de forma = 55.83 m²
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